@ 3x+5x=-2+1

@ 3x-5x=-2+1

@ 3x+5x=-2-1

® 3x-b5x=-2-1

® 3x+5x=2-1



@ x=x-2

D x+1=1

1

@ 2x-3

2—-2x

@ 2(x-1)

® x(x+1)=-2x+1



i
oo
N

559 H2W4E Potolel,

[ )18 54
() 9 27
DLl 9

i



4. 200 Bt ZL 2 FollA 12 € 15 o] FH|SE BT Fatola)

5B

Sk



ol

ofig

ol
B
T

oA

i
<+

ojn

-04,

,03

2
7

34, -3,

@ 29 H4 2 7
@ 5670

@ =724

3 7h

® F9 FeI%

® A2



6. +H4 9] ehd
Fhed 42 pet @ o,

D S
=%

_79} 49] 71| £ A, —123} —79]
2= A, B AYolo] 7125 Patolat.

A~

-
=
-



7. HaS AxdsteEt

(923

5 L
=%



8. 200 9 7F¥ 717 14 9] wjS4-= Lotolat

5 Rog
3%



—

)

BK

P =
A e BT

7k 371 ©]

she] A% % ool A%

10 ©]

9.

sholat,

q_



10.

300 & 7P 2L A% o 2 1Firo] o8 A4 b o] AlFo] H=S
T, a+b o e Fotelet

D S
=%



® 2x33



12 (<) 4 (2)7 = £ x (-1)01 9] e

© -64 @ -63 ® 0 @ 63 ® 64



13.

a>0,b<04 o, ot

® a+b
@ (-a)xb



14. A AHolA ETsto] A& xkm 2 10km THE BoiZ B 2| G 71
7teg B0 20 B7F A2 Hslact A A dol|A £4tste] B
Ao T2 wj7h2] - A|7HE BAE AR A0 R e H?

r&“ X

© (1%4—20)/\12} (% %
©) (EHO)WJ (E %

® (10x + 20) A7t



1 3
Z(8x+ 16)+6(§x—2)

5 L
=%




16. 5(ax-2)-2b(3x-1) & x & A57t 2, 5ol -4 olth a+ b 9
= Fobd?

® -1 @1 @ 3 @ 5 ® 7



e F & e T (B 2 )

@ a=bolHa-b=0 0|t

@ a=3pb°Ha+1=30b+1) o]t}
® §=£°]Eﬂ3x:4y0]1:}.

@ ac = be ©|H qa = b o]},

® a=b °|9H ac = bc ©|t}.



18. t=87gAe] Eo

i)
o,
ofx
ol
a1
1o
ox
i
B

oth] 7k ARgE 32?

ONQ) @ ©

3x+8=-10
3r=—18
T=—6

® ©

@06 0006



xoox (-0) o grg obr

1 1
Y2y - -1
20 -5 ©



20. -2(—x-3)+ %(2 -x) &

g, g=b 9 GE2?

2
© @

W =

=

Al

At

—

5

[SLTRN

filo



